Monday

Tuesday

Wednesday

Thursday

Friday

4 x 700 = 2800
4x7=28
4000 x 7 = 28,000

Calculate 2.8 x 100 =
280

Calculate 280 +1000 =
0.28

product of 300 and 7
2100

What is the value of the

2 in this number?
543,289 200

Round 58,781 to the
nearest thousand.
59,000

Write in Numerals
MMLIX
2059

7 x 700 = 4900
7x7=49
7000 x 7 = 49,000

Calculate 490 x 10 =
4900

Calculate 490 +1000 =
0.49

product of 500 and 7
3500

What is the value of the

8 in this number?
543,289 80

Round 58,781 to the

nearest ten.
58,780

Write in Numerals

MMDLIX
2559

6 x 700 = 4200
6x7=42

6000 x 7 = 42,000
Calculate 4.2 x10=42
Calculate 40.2 <10 =
4.02

product of 20 and 7
140

What is the value of the
4 in this number?
543,289 40,000

Round 58,781 to the

nearest hundred.
58,800

Write in Numerals
MMDCXL
2640

9 x 700 = 6300
9x7=63
9000 x 7 = 63,000

Calculate 6.3 x 100 =
630

Calculate 6300 +100 =
63

product of 15 and 7
105

What is the value of the
5in this number?
543,289 500,000

Round 58,781 to the

nearest ten thousand.
60,000

Write in Numerals
MMDCCXLI
2741

8 x 700 = 5600
8x7=56
8000 x 7 = 56,000

Calculate 5.6 x 100 =
560

Calculate 560 +1000 =
0.58

product of 200 and 7
1400

What is the value of the
3 in this number?
543,289 3000

Round 658,781 to the
nearest hundred
thousand.

/700,000

Write in Numerals

MMDCCCXL1V
2844




Calculate 17.4 - 8.5
8.9

Calculate 15.06 +9.4 =
24.46
What are the factors of

277
1,27,3,9

7/9+5/9=12/9 or 13/°

Calculate 54.6 — 13.7 =
40.9

Calculate 5.16 + 18.7 =
23.86
What are the factors of

147
1,14,2,7

2/5+4/5=6/5o0r 1>

Calculate 56.8 —34.9 =
21.9

Calculate 15.94 + 9.07 =

25.01
What are the factors of
1007

1,100, 2,50, 4, 25,5, 20
10

3/5+4/5=7/5o0r 1%

Calculate 18.1—-7.4 =
10.7

Calculate 12.65 + 19.4 =
32.05
What are the factors of

187
1,18,2,9,3,6

2/7+5/7=7/7o0r1

Calculate 18.4—-7.7 =
10.7

Calculate 7.86 + 8.45 =
16.31
What are the factors of

9?
1,93

1/4+3/4=4/40r1

5/8 of 32 = 20 7/8 of 88 =77 5/7 of 35=25 £ 49 =
3/8 of 56 =21 Orsz2= 3/7 of 49 =21
2/8 of 88 = 22 4/7 of 35 = 20 5/7 of 49 =35
3/80f32=12
7/8 of 56 = 49
Total /15 Total /15 Total /15 Total /15 Total /15




